Agent/System Behavior

Setup:
· Initial amount of customers are created, each with their choice of mobile technology determined by the initial-iphone-percentage slider.

Each tick:
· A new customer is introduced to the model
· The customer has three variables that signify their preferences. These numbers are randomly given right now.
· The customer creates links with other customers—this signifies their friends.
· The customer makes a decision on what to buy based on:
· What their friends use
· How much they value technology
· Marketing in their patch
· These decisions are made consecutively, not collectively

Each patch is colored differently, and signifies which corporation has control in that sector.

Rationale for agent rules:

I have made the decisions consecutive, and not collective because of the assumption that people generally do not make a decision while considering all possible factors. They tend to make malleable decisions that change as time passes.  

Preferences are randomly set evenly across all customers, to model the diversity of a population. Though, this is not ideal, as preferences usually follow more of a normal distribution.

New customers each tick models the constant influx of adopters.

Model Output:

Currently the model’s output is very predictable: the corporation that invests more into either marketing or technology gains customers more rapidly. Customers grow linearly, as to be expected. 

Questions

I’m not too sure how I can make preferences more realistic. Currently, customers simply have a number from 1-20 representing their preference in each sector. This results in a very predictable and linear output.



[bookmark: _GoBack]Next steps:

· Model the cellphone contract system: have customers re-make their decision every 4 years
· Have more of a gradient for marketing. It is uncommon to have advertisements be 100% of one technology in a sector. Though this may not be necessary to implement.
· Look into actual market share over the past 10 years to have a more accurate and realistic model
· Implement Fisher’s replicator equation as a basis for preference
· Include a switch which determines whether or not there are benefits of using the same phone: e.g. iMessaging between iPhones.
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